

## مناقصة عامة

SUP 91 PLA-2025-111

الشركات المشاركة:-  
١ وزارة الصناعة والمعادن الشركة العامة لصناعة النسيج والجلود

الرقم الوطني	إسم المادة	وحدة القياس	الكمية	القياس	الكمية	السعر للقطعة الواحدة	المجموع النهائي
PLA-DE25-125	slow releasing silver ion containing dressing	roll	29375	small	7344	IQD130,000	IQD954,687,500
				medium	14688	IQD130,000	IQD1,909,375,000
				large	7344	IQD130,000	IQD954,687,500
المجموع فقط : ثلاثة مليارات وثمانمائة وثمانية عشر مليون و سبعمائة و خمسون ألف دينار عراقي لا غير							IQD3,818,750,000

٢ القنوان

						Option 1		Option 2	
National Code	ITEM DESCRIPTIO	Unite	QTY.	SIZE	Qty	Unite Price	Total Price	Unite Price	Total Price
PLA-DE25-125	slow releasing silver ion containing dressing	roll	29375	small	7344	\$69.00	\$506,718.75	\$54.00	\$396,562.50
				medium	14688	\$69.00	\$1,013,437.50	\$54.00	\$793,125.00
				large	7344	\$69.00	\$506,718.75	\$54.00	\$396,562.50
المجموع النهائي لـ Option 1 : فقط مليونان و ستة و عشرون الف و ثمانمائة و خمسة و سبعون دولار لا غير							\$2,026,875.00		
						المجموع النهائي لـ Option 2 : فقط مليون و خمسمائة و ستة و ثمانون الف و مائتان و خمسون دولار لا غير			\$1,586,250.00

Commercial offer  
91/2025/111

SN.	KIMIADA CODE	KIMADIA	Product Name	Quantity	Price per unit \$ (CIP)	Total Price \$
1	PLA-DE25-125	slow releasing silver ion containing dressing different sizes	<i>Option 1 :-</i> slow releasing silver ion containing dressing different sizes.( Small )  <i>Option 2 :-</i> slow releasing silver ion containing dressing different sizes.( Medium )	1000 (ROLL)	180.0  320.0	180,000  320,000
<b>Total Amount ( CIP-BAGHDAD)</b>						<b>500,000.0</b>
<b>Total Amount</b>				<b>Five hundred thousand Six U.S DOLLARS ONLY</b>		



Handwritten signature and date: 2/11/2025

PEAK IMPLEMENTS, INC.  
82 WILLETT AVE  
SOUTH RIVER, NJ 08882 USA  
TEL: 732.257.1400

implements, Inc.

Sup 91 -2026-111 - (CIP) OPTION 1								
No	National code	ITEM DESCRIPTION	UOM	QTY.	SIZE	QYT	UNIT COST	EXTENDED COST
1	PLA-DE24-124	hydrofibers dressing (different sizes) يكون توزيع الاحتياج بالتساوي للقياس (5*5, 5*10, 10*10, 10*15, 15*15, 20*20) cm	PCS	7370	5*10	1229	\$ 0.52	\$ 639.08
					10*10	1229	\$ 0.65	\$ 798.85
					10*15	1229	\$ 0.66	\$ 811.14
					15*15	1229	\$ 0.65	\$ 798.85
					15*15	1229	\$ 1.80	\$ 2,212.20
					20*20	1229	\$ 2.23	\$ 2,740.67
2	PLA-DE25-125	slow releasing silver ion containing dressing different sizes يكون التوزيع بنسبة (( small 25% (8-12CM*125-200CM) )) ((medium 50%(13-18cm*150-275cm) )) ((large 25%(19-25cm*175-350cm))	roll		small	7344	\$ 76.00	\$ 558,144.00
					medium	14688	\$ 76.00	\$ 1,116,288.00
					large	7344	\$ 76.00	\$ 558,144.00
total							Two million two hundred forty thousand five hundred seventy six Us dollars and seventy nine cents.	
							\$	2,240,576.79

SOUTH RIVER, NJ 08882 USA  
TEL: 732.257.1400

Sup 91 -2026-111 - (CIP) OPTION 2								
No	National code	ITEM DESCRIPTION	UOM	QTY.	SIZE	QYT	UNIT COST	EXTENDED COST
1	PLA-DE24-124	hydrofibers dressing (different sizes) يكون توزيع الاحتياج بالتساوي للقياس (5*5, 5*10, 10*10, 10*15, 15*15, 20*20) cm	PCS	7370	5*10	1229	\$ 1.10	\$ 1,351.90
					10*10	1229	\$ 1.10	\$ 1,351.90
					10*15	1229	\$ 1.41	\$ 1,732.89
					15*15	1229	\$ 1.41	\$ 1,732.89
					15*15	1229	\$ 3.20	\$ 3,932.80
					20*20	1229	\$ 3.90	\$ 4,793.10
2	PLA-DE25-125	slow releasing silver ion containing dressing different sizes يكون التوزيع بنسبة (( small 25% (8-12CM*125-200CM) )) ((medium 50%(13-18cm*150-275cm) )) ((large 25%(19-25cm*175-350cm))	roll		small	7344	\$ 131.20	\$ 963,532.80
					medium	14688	\$ 131.20	\$ 1,927,065.60
					large	7344	\$ 131.20	\$ 963,532.80
total							three million eight hundred sixty nine thousand twenty six Us dollars and sixty eight cents.	
							\$	3,869,026.68

SN.	KIMIADA CODE	KIMADIA	Product Name	Quantity	Price per unit \$ (CIP)	Total Price \$
1	PLA-DE25-125	slow releasing silver ion containing dressing different sizes	Silverlon Burn Wrap dressing 4"x66" , Code # BWD-466. , (Small) slow releasing silver ion containing dressing different sizes.	29375 (ROLL)	165.0	4,846,875.0
<b>Total Amount ( CIP-BAGHDAD)</b>						<b>4,846,875.0</b>
<b>Total Amount</b>			<b>Four Million Eight hundred Forty six thousand Six ,Eight hundred seventy five U.S DOLLARS ONLY</b>			

٦ شركة بوابة العراق مكتب الميسم

NO	National Code	Code of Company	Description of Kimadia	Description Company	Origin	Unit	QTY	Unit price \$	Total Price \$
1.	PLA-DE25-125	FIN0250	Slow releasing silver ion containing dressing different sizes (( small 25%( 8-12CM*125-200CM) ))	Suprasorb® Liquacel Hydroactive Fibre Roll, sterile, individually sealed, size 8cm X 125cm	UK	Roll	7344	144	1,057,536
		FIN0251	Slow releasing silver ion containing dressing different sizes ((medium 50%(13-18cm*150-275cm) ))	Suprasorb® Liquacel Hydroactive Fibre Roll sterile, individually sealed, size 13cm X 150cm	UK	Roll	14687	144	2,114,928

**General Conditions:**

- 1 - Prices in US Dollars CIP
  - 1- BAN: JO361 BSH108000140161757115101
  - 2- BANK NAME: BANK AL ETHAD
  - 3- SWIFT CODE: UBSLJOAXXXX
- Bank Address: Jordan, Amman  
 3- Beneficiary Name:Iraq Gate for Trading Medical Devices and Supplies CO. L.L.C  
 4 - Country of Origin : UK  
 5 - Validity: (12 month).



**Total Price : 3,172,464 \$**